# **Ocean Reef Senior High School**



# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Sunday 31st December 2023 Using "P62K" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

#### PREPACKAGED DELIVERY SERVICE

Your home delivery will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the Return date of Sunday, 31st December 2023.

All home delivery orders returned on or before the 31st December 2023 will receive FREE home delivery. Any home delivery orders received past this date will incur a late fee of up to \$8.00.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



## Please tick the items required in the box provided $\downarrow$

 $\sqrt{\phantom{a}}$ 

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount S
	YEAR SEVEN					
	PERSONAL ITEMS FOR STUDENT USE					
	ALL STUDENTS REQUIRE (ESSENTIAL) Please ensure stationery	requirements are	e maintained	throughout t		=
252000	Calculator Casio Scientific FX-82AU Plus II 2E	1		1	41.95	41.95
55442	Display Book A4 20 Pocket Black Refillable	2		2	2.15	4.30
51006	Document Envelope A4 PP With Press Stud Blue	3		3	1.25	3.75
58510	Eraser Plastic Pencil Large With Sleeve	4		1	0.40	0.40
50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	5		5	2.15	10.75
51685	Glue Stick 40gm Artline Clear	6		2	2.75	5.50
50186	Highlighter Marker - Yellow	7		1	1.60	1.60
55799	Manilla Folder F/Cap Dark Blue	8		2	0.50	1.00
50105	Markers Micador Basics Fine Tip Pk 12	9		1	2.15	2.15
56095	Pen Ballpoint Cap Type Blue Medium	10		3	0.35	1.05
56096	Pen Ballpoint Cap Type Red Medium	11		2	0.35	0.70
56130	Pen Felt Tip Fineliner Black	12		1	2.85	2.85
50006	Pencil (HB) Micador Essential	13	$\overline{\Box}$	2	0.35	0.70
50004	Pencil (2B) Economy	14		2	0.50	1.00
52092	Pencil (2H) Goldfaber	15		1	0.70	0.70
56213	Pencil Case 340x170mm Name Large	16		1	3.40	3.40
50208	Pencils-Coloured 12's Columbia	17		1	2.85	2.85
50953	Post It Page Markers 100 Sheets/Pad x5	18		1	10.95	10.95
56353	Protractor 10 cm 180 4" Half Circle	19		1	0.45	0.45
58638	Ruler 300mm Black 100% ECO Enviro Recycled	20		1	1.25	1.25
52233	Safety Glasses Protective Bag W/Drawstring	21		1	4.50	4.50
50424	Scissors 152mm Blue/Black Handle	22		1	1.80	1.80
51356	Sharpener Pencil Wave Double Hole	23		1	2.05	2.05
52086	USB Pocket Flash Drive 32GB - NO RETURNS	24		1	14.05	14.05
	Safety Glasses Option		ப Choose One	·	11.00	
	Safety Glasses are required in both Design Technologies - Materials					
P56427	Safety Glasses - Spectacle style	25		1	9.95	9.95
	-OR-					
	IF STUDENT WEARS GLASSES - It is advisable to purchase a larg such as:	er style of safety	glasses that	t will go over	the top of	glasses
P60040	Safety Glasses Spectacle Unisafe/Honeywell	26		1	7.55	7.55

#### **SUBJECTS**

#### **DANCE**

Students will require an electronic device that can store and play music.

#### **DESIGN TECHNOLOGIES - MATERIALS**

As part of the Technology course all students will be required to use power tools and there is a legal requirement to wear appropriate safety glasses (Safety Standard:AS/NZS 1337.1). The school has a stock of glasses which can be used by students; these glasses are replaced yearly and so are not always in 'showroom condition' so it is advisable to purchase a personal pair which can be found on the Personal Items for Student Use list. It is also advisable to keep these in a case to stop damage occurring while in bags.

while in bags.

P56416 Ruler 300mm Stainless Steel (Metal) 27 1 3.60 3.60

## Please tick the items required in the box provided

Ø

Item Unit Item Qty Total Office Use Description Reqd Reqd Price \$ Amount \$ No. **ENGLISH AND ENGLISH ACADEMIC EXTENSION** 1 x A4 128 Page 8mm Exercise book 1 x Post-It Page Markers 1 x Yellow Highlighter These can be found on the Personal Items for Student Use List. **HUMANITIES & SOCIAL SCIENCES AND HUMANITIES AND SOCIAL SCIENCES ACADEMIC EXTENSION** 1 x A4 128 Page 8mm Exercise Book 1 x A4 Display Book These can be found on the Personal Items for Student Use List. **JAPANESE** 1 x A4 128 Page 8mm Exercise Book 1 x A4 Display Book are Required. These can be found on the Personal Items for Student Use List. **MATHEMATICS** 1 x A4 128 Page 8mm Exercise Book 1 x A4 Document Envelope 1 x Protractor 1 x Scientific Calculator These can be found on the Personal Items for Student Use List. MATHEMATICS ACADEMIC EXTENSION 1 x A4 128 Page 8mm Exercise Book 1 x A4 Document Envelope 1 x Protractor 1 x Scientific Calculator These can be found on the Personal Items for Student Use List. P51646 Mathomat Ruler R300T 28 6.65 6.65 1 **MUSIC SPECIALIST** Students are required to purchase an online Software Pack - Auralia + Musition, this holds a 12 month cloud license and is accessible both at school and at home, \$59 (further information will follow about the link for purchase). Instrumental Method Book to be purchased as advised by Instrumental teachers, approximately \$35.00. Vocalists - 1 x Shure Microphone SM58 & Microphone Cable. All Specialist Contemporary Music students require a pair of Hearos High Fidelity (Musician's) Ear Plugs to meet Occupational Safety and Health compliance. Students in practical classes without these ear plugs will not be able to participate but rather re-directed to theoretical components until acquired. These retail between \$30-\$40. P51396 6.30 Earphones - In Ear Stereo Black 6.30 P01252 23.99 How To Blitz Grade 1 Musicianship (2E) [Samantha Coates] 30 1 23.99 **NUMERACY SUPPORT** 1 x A4 128 Page 8mm Exercise Book 1 x A4 Document Envelope are required. These can be found on the Personal Items for Student Use List. SCIENCE AND SCIENCE ACADEMIC EXTENSION 1 x A4 128 Page 8mm Exercise Book 1 x A4 Document Envelope and Safety Glasses are required. These can be found on the Personal Items for Student Use List. **VISUAL ARTS** P56677 Visual Art Diary A3 60 Sheet 110gsm 9.95 9.95

# Please tick the items required in the box provided

☑ Item

Reqd

<u>\$</u>

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked:

Postage (Home delivery only) \$0.00

**ESTIMATED AMOUNT DUE** 

(PRICES CORRECT AT 03/11/23)

Office Use

Description